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1 jfnL ljsf; sfo{s|df                             

1.1 jLha[l4 sfos|d - wfg #% x] _ x]= 40   175             35   175   

1.
2 jLp 9'jfgL k6s 2   30             2   30   

1.3 :ynut tflnd ;+rfng 

;+Vo

f 12   120 4   40 4   40 4   40   

1.
4 s|k sl6Ë 

;+Vo

f 60   24 20   8 20   8 20   8   

1.
5 vfBfGg jfnLdf s[ifs kf7zfnf ;+rfng 

;+Vo

f 3   210       2   140 1   70   

1.6 ;'o{d'vL v]tL pTkfbg k|bz{g 

;+Vo

f 2   100       2   100         

1.
7 d'+u v]tL pTkfbg k|b|z{g 

:+fVo

f 2   100             2   100   

2 sfo{s|d ;+rfng tyf cg'udg k6s  6   41 2   14 2   14 2   13   

  hDdf       800     62     302     436   

2 ;xsf/L v]tL tyf ;fgf l;+rfO{                             

2.
1 ;fgf l;+rfO{ lgdf{0f tyf dd{t ;+ef/ 

;+Vo

f 2   190       2   190         

2 sfo{s|d ;+rfng tyf cg'udg k6s 2   28       1   14 1   14   



  hDdf       218           204     14   

3 k|wfgdGqL s[lif cfw'lgsLs/0f kl/of]hgf                             

3.1
. k'/fgf] ks]6 sfo{s|dnfO{ { lg/Gt/tf  

;+Vo

f 3                         

3.1
.1 k'/fgf] ks]6 sfo{s|ddf tflnd ;+rfng  k6s 6   36       3   18 3   18   

3.1
.2 k'/fgf] kfs]6df ;ldIff uf]i7L ;+rfng k6s 1   30       1   30         

3.1
.3 k'/fgf] kfs]6df k'lhut tyf rfn' cg'bg 

;+Vo

f 3   1380       3   
138

0         

3.1
.4 sfo{s|d ;+rfng tyf cg'udg vr{ k6s 6   54       3   27 3   27   

3.
2 gofF ks]6 :yfkgf 

;+Vo

f 3                         

3.
2.
1 gofF ks]6df tflnd ;+rfng k6s 6   36       4   24 2   12   

3.
2.
2 gofF kfs]6df k'lhut tyf rfn' cg'bg 

;+Vo

f 3   846       2   564 1   282   

3.
2.
3 sfo{s|d ;+rfng tyf cg'udg vr{ k6s 3   18       2   12 1   6   

  hDdf       2400     0     
205

5     345   

4 cfn' t/sf/L tyf d;nf jfnL sfo{s|d                             

4.
1 s[ifs ;d'xdf t/sf/L ldgLsL6 ljt/0f 

;+Vo

f 160   40       160   40         



4.
2 t/sf/L v]tL ptkfbg k|ljlw k|bz{g 

;+Vo

f 2   50       2   50         

4.
3 d;nf jfnL pTkfbg k|ljlw k|bz{g 

:f+Vo

f 1   50             1   50   

4.
4 :ynut tflnd ;+rfng k6s 5   50 1   10 2   20 2   20   

4.
5 sfo{s|d ;+rfng tyf cg'udg vr{ k6s 3   18 1   6 1   6 1   6   

  hDdf       208     16     116     76   

5 df6f] kl/If0f tyf ;]jf ;'wf/ sfo{s|d                             

5 df6f] kl/If0f lzlj/ ;+rfng k6s 1   60       1   60         

5 :ynut tflnd ;+rfng k6s 2   20       1   10 1   10   

5 sfo{s|d ;+rfng tyf cg'udg vr{ k6s 2   14       1   7 1   7   

  hDdf       94           77     17   

6 s[lif k|;f/ sfo{s|d  tkm{                             

6.1 s]/f v]tlL k|bz{g 

;+Vo

f 1   100       1   100         

6.
2 s]/fsf] ;s/ %)µ cf'bfgdf ljt/0f 

;+Vo

f 5000   125       
500

0   125         

6.3 s]/fsf] ;s/ 9'jfgL k6s 2   30       2   30         

6.
4 

d'Qm sd}of ,xlnof blntx?df t/sf/L ljp 

lat/0f k6s 2   100       1   50 1   50   

6.
5 %)µ cg'bfgdf df5f e'/f ljt/0f 

;+Vo

f 60000   45             
6000

0   45   

6.6 df5f e'/f 9'jfgL cg'bfg k6s 7   70             7   70   

6.
7 cg'bfgdf Rofp ljp ljt/of 

;+Vo

f 1600   120 
100

0   75 600   45         

6.
8 :ynut tflnd ;+rfng-s[lif k|ljwL_ k6s 8   80 4   40 3   30 1   10   



6.
9 cfO{ lk=Pd s[ifs kf7zfnf ;+rfng 

;+Vo

f 2   140       1   70 1   70   

6.1
0 cGt/ ;d'x s[ifs e|d0f k6s 1   50       1   50         

6.1
1 s[ifs ;d'x lardf cGtls}{of k6s 2   50       1   25 1   25   

6.1
2 sfo{s|d ;+rfng tyf cg'udg vr{ k6s 9   90 3   30 3   30 3   30   

  hDdf       1000     
14
5     555     300   

7 
Jofj;flos s[lif k|jw{g tyf ahf/ ljsf; 

sfo{s|d                             

7 ;+sng s]Gb| lgdf{0f 

;+Vo

f 1   1300       1   
130

0         

7 s|]6 ljt/0f 

;+Vo

f 100   200             100   200   

  hDdf       1500           
130

0     200   

8 dT:o ljsf; sfo{s|d                             

8.
1 Jofj;flos dT:o kf]v/L lgdf{0f x]= 4   1260       1   315 3   945   

8.
2 g;{/L kf]v/L lgdff{0f x]= 1   515             1   515   

8.
3 

Joj;flos dT:o pTkfbg k|ljlw k|bz{g tyf 

:ynut tflnd 

;+Vo

f 2   200       2   200         

8.
4 ;fgf l;+rfO{ lgdf{0f tyf dd{t ;+ef/ 

;+Vo

f 2   240       2   240         

8.
5 l;+rfO{sf] nfuL ;f]nf/ kDk h8fg 

;+Vo

f 1   100       1   100         

8. :ynut tflnd :+rfng k6s 6   60       3   30 3   30   



6 
8.
7 sfo{s|d ;+rfng tyf cg'udg vr{ k6s 4   40 1   10 2   20 1   10   

  hDdf       2415     10     905     
150

0   

9 s/f/sf] sd{rf/Lsf] tnj eQf k6s 13   320 5   120 4   100 4   100   

  hDdf       2415     10     905     
150

0   

  s'n hDdf - !—( ;Ddf _       8955     353     5614   0 2988   

 

 


